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Select the correct answer in questions No. 1-25 and write its number on the dotted line.

(1) & 1B b O edgben 5@ ¢ FB08L8S (*) cpend swdss ©@EG OB Gy @B @@ ¢?
SILILILB6iTen  LTJ  1LJeRIosnl_subB@ eteror fldberd (*) GBUN BoHE&S &6l LWEILGHS Gousmngus Giysor
wirenen?

Which rests should be inserted below the asterisk (*) to complete the given bar?
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(2) & B s.8n 2edxd gey 080 B8desiodn vvn wenst SD1Bs3 O ¢?
ST BeiTen  RewFOLLFLLSEG CUT®HSHHWTE oD HECFFy LisoumeusmouBmieT 6157
Which of the following would be the suitable time signature for the given extract?

a0 -
AR e
I ¥ |
m § @4 3 3 @ 3 ) 4 (o)
(3) e®® wB» DedDed B O wwn JD18s3 RO ¢?
Abs Bewg GuwFiniesr & LlseumensieuBmieii 61gh1?
Which of the following is the key of this passage?
ig % prmm— p— - E
1D zujieie | i LT m—
4ot e T
(1) B major (2) C* Harmonic minor (3) F' Melodic minor
4) C* major (5) B melodic minor C..... )
(4) g B dordced 50108 O d5¥es’ vwn dDu8s3 o= ¢?
SIUUL (Beitem sr08med Bett Fflwimenr G TedToNhersTenBmIsT 61?7
Which of the following would be the correct name for the given scale?
bao bho B
23" 1 = 4% Ll
',l" o3 P P %) e 2
(1) Pentatonic minor scale (2) Dorian mode (3) Harmonic minor scale
(4) Whole tone scale (5) Aeolian mode (...... )

(5) F 9000 0023 08053080 vun 600 arsmdwns wigrsiess snm & i 01853 @ €0cws ¢?
F evoupssis@s S <um @bbosi L seflal stosuy Goupiim ent g SWTALILSG LsiaimalersubmieT sbhd
sroeuyLD?
Which of the following forms the interval of an Augmented 6% below F?

2] S ,"? = $): ¢
@ % @ 15 o OF - = O 5) = Geasm)
e
(6) & 8 €00 arimded 9ridtas! O dxfes’ o & 418 SDlxs @S ¢? 1D
ST (BsiTelm erosuy CeupILmligedr Eeiialjaget i LsiaumeusiouBiei 6157 1S R

Fa
=

Which of the following would be the inversion of the given interval?

(1) Augmented 3™ (2) Minor 6™ (3) Diminished 6™
(4) Diminished 3" (5) Major 6 Comns )
(7) & a8 B 8Feritded e®ecits ©8m aredivnes deomced, odd8wusid 8ods e’
808 013 €7 Jooh
s 929 z & \s W b b

SIUUL(eiten & FbBangFfleir  GoBGsomgd emioenny LCrmdHewr er0BHsV6  FLISQU I
sTORIID  LT6dTeHeleTeUBMIOT 6187

Which note is the sub-mediant of the ascending form of the melodic minor scale of the given key
signature?

] )
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(8) v & 418 90853 B 08l B 90 g ewisiewid) Ow dDrles’ @ ¢?
UeiraimeasiieuBmien 1o sninen] & RBGFlul CbTewiCaT 61gi?
Which of the following would be a concord in the key of D minor?
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9) 2®L 8 vw, e®SE 9ud e’ & @B 0183 oS ¢?
Guwmy & @Aflsd, Cga) Jwi Seug SHITILL GeiTeneuBBisT 6ig?
Which of the following are major triads in a major key?
(O I, 1, VI 2 I1iv,v 3 I, VLYV @ V, 1V, 1 ) IN; M; VI (... )

(10) & 818 edasduw Bdod »0n cRBIesS cvm SDBsS ROBT ¢?

SHILILL Bsiten B sii610 1 N6dieNpeuaisuBmIsiT 61%H60 apsod elLIflbasiGABES? _ ﬂ_ .a| :|_
Which of the following would describe the given cadence? I %?l—ﬁr—

(1) Interrupted in A major J_ J

(2) Imperfect in D minor l‘,} o —

(3) Mixed in E minor T |

(4) Phrygian in A minor

(5) Perfect in E major (enn )

(D) § B 0083 ‘Fees emssdBy emides Dicmne B8O WP EWIPEY CRTIeS O ¢?
SILLIC BeTeneuBmIsil ‘GG GEmangaiy,’ LGHCUITEIDE BMEILSBEHTS LWSTLGSHSLILG S wirg?
Which of the following would be used to play a “Basso continuo” part?
(1) Trombone (2) Double Bass (3) Piano
(4) Cello (5) Harpsichord (s )

(12) ‘edvews’’ kv qom Beds 581 eeo som $01823 o ¢?
Beuppieit ‘Coublons’ elem HHmEHMBH HHID Gl QaTed 6ig?
Which of the following is the German term for ‘fast’?
(1) Lustig (2) Zu (3) Schnell (4) Mit (5) Und (..... )

(13) € 3B 800853 et Ducms e emmides B3 ¢?
ST BeitseuBRIsiT CHI. Qailflenst BewaFhbd (PIQUITSSHI 6156 APSOLDT GLD?
Which of the following will not be able play a chord?

(1) Harpsichord (2) Trombone (3) Viola (4) Double Bass (5) Piano (S— )
(14) & a8 o B[’ QRO BH Mg e B0 qrems H0s Olent 6®0B o= e? N
YL BsiTen eroeugid B™ @emenn LybL @eiilenmed @enag @b Guingl Gsl @ eTosNILD @eNBmI6IT Jﬁ} =
618?
Which of the following notes would be sounded when the given note is played on a trumpet in B ?
) bo - ol 0 _—
(1) I @) =2k 3 — @ " &) ZLHod| (-
o [y
[y

(15) 8012 DO B0V GIBIB BDE DS BEOO D PVE BGLwBE ®IsE0 S8e®E 18 O O oD &
318 B8 wBo@a 290085 veOd ¢?
AeIE6TI  GHIelemsd QUIBMGLITE DDFHHHHHS GIeney il 2 wihs oiFdled GemFsGid GuTg
BopreimId G0 sdioubid 6ihsh FRESHI GUUIflenTsd SPLILGD?
Which of the following musical terms denotes a male voice singing above its natural range?
(1) Portamento (2) Falsetto (3) Vibrato
(1) A Capella (5) Tessilura {oe... )

(16) ®@emegE &90 yedmcum e D Omewss ‘emiensy’ oce gEedsies’ &8 ¢ D183 OB &?
LB J6b  aroeuy  euDFOLITEINd GbHTed Gomfl Camsdedlsd ‘CarBsim  sland GBIUILILGeug)
SIULL B6TeNeUBBIGT 6TH6  APeOIDTEHLD?

Which of the following would be the equivalent of the Italian word ‘como’ in an orchestral music

score?
(1) Clarinet (2) Oboe (3) Double Bassoon
(4 Horn (5) Piccolo (...... )

i
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( (17) o> 8 ¢ PemddE w8 w1630 grecs’ APedd 612 » LS00 sdews gfes RO Mmeddom ¢?

&6 SO {Bsitem @LB6OLT60 BemFoHsmailbEnst 6 Y2 @Hbl 61 eroeuy alFensd OsBTaLg slhgd Bemsd
Hmailuleor@?

Which of the following orchestral instrument has a range of about 6% octaves?
(1) Bassoon (2) Flute (3) Harp @) Viola (5) Hom Gonnnn )

(18) 8 a8 S20853 Berrmd af)® w®asiomdws ¢Bosies 853 eI ¢?
ST (BoieneuBIsT @erBIECETHIn 1065 Gonmeursn GQHT_JanLd GCoTamnomLiLgl s1gl?
Which of the following is least related to the others?
(1) Cantata (2) Ballad (3) Lied (4) Folk song (5) Aria Cowaans )

(19) o & g8 S0:83 @recns Gowd gurt e ©@o 8 SBE Digw PedIn®:rs wewI By QewesEgc
B3 Do we »1B gLy 006 dtes’ RO ¢?
siisumeusienbmieit  LGyTd  WsHHISG& W @bderol gr 2 Lemen AL ReNFEGWYSETE GRS L
@@L _J60 UL LIGUTETenE eUflbHSHHbEE OUTHSHSHIONe GLIWIT 61Fl?
Which of the following would be suitable to describe a composition of the Baroque period for a
small group of soloists with Orchestra?

(1) Chamber music (2) Cantata (3) Concerto
(4) Symphony (5) Concerto Grosso (awais )

(20) & 38 I anecs’ BO0E ymew dsles’ @S ¢?
ST (BeiteneuBmisit FWITe gmBmI 617
Which of the following statement is correct?
(1) Free Fantasia is also called Modulatory section in a fugue
(2) Komala Ni in oriental notation would be A flat in western notation
(3) The traditional Bass guitar has four strings
(4) A cadenza is found at the end of a piece
(5) J.S. Bach was deaf when he died

(21) ar808eds (*) o8 crey ©J e 890w »® me vrdes & ¢ WO HOBSI ¢?
Q@ eTerol_flaerd (*) Revimsd GHMdBLILL_[Bsiten eToeuFID HIUILI BeiTeTeuBmIetT sTLIGILILIf60msD

GBI Iu@GD? o '

Which of the following is the name given to the note marked with an asterisk (*)? Jﬁ—‘i
’.

(1) Anticipation (2) Suspension

(3) Auxiliary note (4) Changing note

(5) Retardation

(22) oo & 1B 2:.8o@ds3 gneds’ 88eEs® 1 B®D s.dBu®wr mOeT ¢?

Lsiieu@lo QengF HGNHeT FBWedFID OHTLuTen SengF ub@Gsug wmj?

Which of these composers was associated with Serialism?

(1) Bartok (2) Debussy (3) Stravinsky (4) Glinka (5) Schoenberg (...... )
(23) ‘S5@7) e0Bwe®’ Berens wI» cled wyTss S8=8 ¢?

‘Cajjiosit Grdefund’ wmymed 2 [HeuTHSULL L 7?7

Which of these composed the ‘German Requiem’?

(1) J.S. Bach (2) J.Brahms (3) W.A.Mozart (4) P.Tchaikovsky(5) R. Schumann (...... )
(24) 8 a8 OO O BOICED Dacrws OB Pdes ¢BOBIesd s s’ wOTESS ¢?

LssiaumenadeuBIe  SILILIL Beiten uJeinblioei. Benst FAlumed RMFHGID (WD HT.[Houdl 61517
Which of these would be the correct way of playing the given ornament? 9| o~

i S
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( (25) ‘B @ 08 &' u» B Bos gues Oxless swn SOB23 O c?

Wur e 105 eF eI BIFHINILITL 60 LNeiieumperaiouBuisi 618960 ILmisuwlsiteng?

Which of the following has the Nurthi song ‘Sriya Mana Math Vee’?

(1) Vessanthata  (2) Padmawathi (3) Dutugamunu (1) Sri Sangabo (5) Ramayanoya (...... )

@ o> 26 80 50 o yd> g 08 88mc weEsim.
26 OGpm _s®1> S0 cxenywimed CNRNTHEHEHESF HBHEBBOND DL 6I1PSHIS.
Write short answers for questions No. 26 to 50.

(26) 8530EE3S w-Bmed crieen 6cdD Bwnxsim.
iWesioaderdgd @enaulls LewTLEsT SeRienL. 611p5IsH.
Write two features of “minimalistic” music.

(27) & 1B Hedded ‘wdevsiamnsa’ Scxr ¢30xstm.
SiUL Geiten o061 i Beit “‘For0CLITOYHT Renetl IBHBIB BT (B.
Illustrate a suspension in the given stave.

(28) woBons’ Bed wodmede cDDD® 8dtd eniDBOO ©IBD WIH 2® ecad Ewusim.
Bmwg UEGEIH6N HoriuL Qensuiss CLUTH DSUFF FHEITILKIBD6TTE Bl IQOUIIDILISBE LIWLSTLGHSHID
(PMBEHST GATRIEML  6TAPSH\b.
Write two ways in which the composer builds tension in film music.

(29) D9 8823 B ‘erensigs’ Veecied DD ecdE MO mIwis.
ouTdbenflemsd elapsLI L QeorOamsiisfs slaip @OuyTelss @yewi® LTSS mibatsn QUWIT GBIILIBES.
Name two characters in Wagner’s opera ‘Lohengrin’.

(30) g3 o8O Buwendors o @530 Bwenddrs g0 ¢ 00medn® e¢an wewss wowim.
Syl 1lumGameb@o  Sgra.  LNwrBameyb@n  spdlweBpibalen uleorea CapuT@ssT Gemiend
GBI NBs.
Mention two ways an upright piano can be different from a grand piano.

(B1) & B 20200 wgevm Blowm e®emedimos ©8n ods Bomim. a0e O0m BOCED
e»OBDED wwEs Gwxim.
SILLIL Beiten QaTBHEnHEEI CQUImSSIOTa FhHbTaens GTGMGITH @Bl LGRS 611HSIS.
o flur Gembamens Fflwmer CwTL e’ @eit SCI 11HSISH.
Write a rhythm pattern on a monotone for the given words. Write the syllables under the notes

correctly.

“The baby is crying, oh what shall we do ?”
i |
[ ] |

(e 850 dcsd» / wmubsd unjéss / Please turn over
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(32)

(33)

(34)

8BecnBs 0e0w® vy ROBE Tedod ®0 & wewr O CeOiHmRE Y wdnwnn BB WIBIB.
‘AGumelld QUL oTammed  eleiiaOleussl  aLIfibadl NBHBBTN 2 _HTTRIGLONIMBUID ENNTF D8 G601]
@meufle GUwsnIWD GBIIGES.

Describe what a symphonic poem is, giving an example and the name of the composer.

‘o e’ Eds’ PEsiedries’ BOS ¢? O BORTIV B WIS »O WIBID.
‘omen GHTLIT 6l6iLSHTd GHUILIUGaIS WTH? SIS 61 OHTLLmLW Bengbsmell @eimser Gy

GBILLGBs.
What does ‘Una Corda’ mean? Name an instrument with which it is associated.

a3 auSes’oD 8. 00w oy gEes’od @l 800w god edmw, & ¢ Bedded By ¢EHOES)

0188 wIBi.
DT GIBFOHILL.  UTHBI  6To6NNID, 6THhF6ILL.  LTAR  eoeIfid  slsiLisioBmIbSenL ufleorsn  Geumim’snL
ST Beiterr e0BL6Y R iFpewen allsufldHg afend@s.
Explain the difference between an unaccented passing note and an accented passing note illustrating
it on the given stave.

(35)

(36)

(37)

eRemtdsied ‘@it 8008 8 8 o nes ¢?
i&H6HTeueisn ‘Gomymed Hibueh’ Seir & 6157
What is the key of Beethoven’s ‘Choral Symphony’?

€ g8 dedded C o®3b8 Vd-I scx Swe® So ¢30ssm.
sy @eiten eoBye Bed C Goggfled V7 d-1 smid SHjewen aflenflé@s.
Illustrate a resolution to V’d-I in C major in the given stave.

2 B ©.80 Redds 0o ©.8m 890 ecs s8Obnme BOBID.
SIUL_Beiten RenF CHT@GHUML HWPHEHW RengF eTOaNJIDTS  LOMBNISG.
Convert the given passage into oriental notation.

N

.
{ ]
__%~’
Y
ﬁ
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(38) o ed®) Dy PO ‘VAG BedBo' s »Eiedsies’ @ ¢?
BIIDLG BHailsmet Rengbol wpempulsd ‘Lusd eoGrminim’ sierds @GUHUILLILGgG wrg)?
In string technique what is meant by ‘double stopping’?

(39) 0@ o0 eV VO OB EOmE O VWIIORWO vvw &0 B WOERL Vg0 ¢?
BGuerd  eLeIICIOTRIDB BBIHSTH @MFCWIARINT  WIBLIGD eBIJaNEE o HaHed oo GILLIFTE
SIMPSHSIIGID?

What is the name given to a sustained bass note supporting changing harmonies above it.

(40) & 918 088 8de3Dswd grd BO0E ecen e @3 G 68900 ewdPeddl ece 915D B3 Al &

©8uben wdzim.
SIUULBeiten  emib  HHCaFFmbHmowl  FAWTHSH OHTGHSNMTHS G evauIHme CF16aCasurmai

LWIeIL® S8 SILILIL Bsitem UM el LLj 6w ILBHSHIS.
Complete this bar with semiquavers on G, correctly grouped according to the given time signature.

ilﬁ

[ M)

ANEY

[y

41) ‘@®3d om DOMe Bedmso mosim.

‘Comgll’ 6163 LU HHmd ellLifldb@sb.
Describe the word ‘motif”.

(42) 0®® emide »® mIxsim.

Bbs Cam. et QU GPIIIGE. .mbﬁé
Name this chord. _‘au—iL
_é}:! "‘!

T~

=

(43) ®8emeddstd cneds’ vgsidless RO ¢? du 8@ dbved B.dowms BE (PO Eed &?
‘CosGmT Crmeie®’ eIl IBouH WITHI? B0 6lbDH cUnd DHFUTD HTewmIsHbHHTL B HoHED?
What is meant by ‘microtones’? In which type of music would you find them?

(44) & @B €00 ecw avd edisld Bus Bed ¢? 19 bo
SILILLBeiten eT0suImIG6T ERTMIBGHEGID RewL_uled 6lhHSHenel CrmaierodsT o _silemen? D
How many tones are there between the given two notes? #E

(45) gRbded ‘YYD BP0 gwI@ids WoBD Ierd) OO ©¢®I Bw g, B8 wodn VI @I ¢?
QUL gt Ve SHelaiCLL’ eailgh FTHITen Qengd ®meldalc OHTGULIGHTS TIPS I L HTEGD?

SlhdH RmFH HHNB6IT WITene?
Schubert’s ‘Trout Quintet’ was written for an unusual combination of instruments. What were the

instruments?

(e 89D dcsd» / wpussh utjss / Please turn over
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(46) 080 2 O ©0:8® ®w¢m & g eied »O eid) eCwd dmr WoBID.
umdiml 2@66[66)@5;’5 SWrlusbers Sruul Gsten Bam. GBe Gospd @yesiG Cam smensd  BFJHG®.

Add two chords to the given chord to form a passing six-four progression.

(47) ‘@89G @ ¢ BOEE Dsn wo» cled wHos 5853 ¢?
‘TIyemiieNsy @6il Dieflioser’ @emedt TS WsuF wimj?
Who wrote the ‘Carnival of Animals’?

(48) € a8 O»ez30 O Dgtrs W G Gude BdPLerews’ Busim.
SILILL Bsiten @Femioswi’ Qenell BenFHd Gouswngu! eflHdHensd (LPUPMIOWITES STILSIS.
Write the given omament in full as it should be played.
fan

_'__“

(49) G &ocens’ 410®» @0 dgE dodcn & @ Fedded medives BEeded Bunsm.
SIULIL_(Beitenm sr0Brei Bed G arveuTHEHe0 OHTLARIGID LIEeherd e0BH60 Eemedt U CITHEMIOTS  6T1ILSHIS.
Ilustraie a blues scale starting on G on the given stave in ascending form.

~):
4
(50) & 1B .8 2eddnd gl Bold) eded Bosim. A | | |
SIUUL Beiten Rewgdh QHTGULUSGES S6p sl Guerd 611p5Is. #ﬁi
Write the figured bass underneath the given passage. = r |! |!
!
7
@ Bone w e¢®g v vo» & aw.
Arumen, SO USHIGET HCD HFLILIL (BeiTeTsn.
Sinhala and Tamil terms are given below.

deesitio - @edinen TOFGHTIgmI - S1GymHewILD
BewsiBo - gdedines 19 GlF6ingmI - SIuBFTHewILD
30 - 90 G - eroGUILD
BODE - 8BGO ey Gleusd - @emLGeuerl
cleli (9] - B0®w Omerdr” - gule)
RISicre) - eadoma @566y - FlBId
8e® - 8é®w flsid - FhHHID
30 - ®up Ui - LTHHeny
end®edisd - €00 Mo GFlGymest - uTHHe e
©0fs3 - odyYen 6O0n Gymetr - (PpSLsTeN

Ootdendd - @ B8® LymeiteroGumerd -  LOTBBISHEL
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Western Music

(oo o6 a0 BEO® BED - ®80q 108 )
APGITLI  LO6WOTIS Bl ITeOLD Guoevgls ey Gprp - 10 PO Kissit
| Three hours Additional Reading Time - 10 minutes )
(@00 Bwedd e oo oas HEE GBe emics MBeOD SR £5edE 0ERTO® 6cod OB BOMDG )
D0 BSOD eEINDD.
alamiLSATSmS arddhgl, eiambsmens OzflaRslashed el ausIbeUTE (waigiflenn ailpkED
NEMEEHEMET PUEBIBMOSSIE CETEISHBGEID Gess andlii] Cry&Hemsl LILIGIGSHSIS.
Use additional reading time to go through the question paper, select the questions and decide on the
questions that you give priority in answering. J
v
5
SE0® Gome
&L Gl_ewr } .....................................
Index No

1 O gEDG ¢ IT 0 Il 0008808 i e B8 emicien, gis OO BERc 680 66l ® wuw=i. )

1 b elamalban ugd I, ugs I aaLaBedmHa Beualiyei® elemesmend GHAOOFLIF, sl6v60TIONS
Kb slnssende @HSTaliGnbw ailm 5ms.

Answer five questions including question No. 1 and selecting two questions from each of the parts I and
IIl on this paper itself.

J

For Examiners’ Use only
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Part ‘Question No. | Marks Awarded

Total Marks
I 1 f \
In Numbers ‘

2 In Words

1 3

- _ Code Number
4 rMarking Examiner |
5 1
— =l — Marks Checked by:
m 6 2|
= | Supervised by ‘ )
Total
o 7
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Study the [ollowing music score and answer (he guestious.
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FRANZ SCHUBERT D.334
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(a)

(b)

(©)

(d)

(e)

®

(®

(h)

00D 8¢ EIVEOE B O »® ouH.
Usieumd u@deefar & @er GUWT SHihd.
Name the key of the following sections.

() Minuett :©  icsssssessisseesie e
(i) Trio DL e R

85000 e eDVHECO O e B 6CHD HEINen TG B e®OC ©eHs} WIBIH.
1BaIGaul’ LGS Gomgulbeol. suGb 2 flul BrewiG & el B@ThSNIB HeuBfler LTFSelen Se0hamibensld

SBULIGS.
Identify and state two related keys to which the minuett modulate giving their bar numbers.

Jewd emded B:edris O Hgmens (A e®®0G Ewsim) Bv 8@ el edimE Bredsinnaded
®8eHs3 ozID.

LGur ugHuiler Fo@bateon geatens SeMmiGamiH (LT] Be0udbdhHemnd 6(pHId) il flulsd Sievevd I GIFTaTed
FHGOUSTFT GTaLIHMeH GBIINIBS.

Identify a sequence in the trio section (Write Bar numbers) and state whether it is a real or tonal sequence.

OGS @108 8 4 Bxedd emdess @l 1-16 amd ¢l sdecsiasl O3 cwe wom.
SIDLAUEGBW  LWUaGTLUBSHS  SIU Geten  WaniGeu’”  LgHuied 1 -16 euenguimar LMJEEHSSenLuled
STEIILGL FaOOLNIAT ReTDBD GHDldbEH.

Mark with a bracket a suspension used in the Minuett within bars 1-16.

©®® 3.8 Defded edBew) O Bdmc DI,
Bhs Bmad Siewiger GFnGunr Bemenl efleufldg .
Explain the tempo of the piece.

@b god 82-83 crpen B3 Oicmme e g guIce & g8 dedded Ewim.
uty Revdsid 82 - 83 Bemer BEIGET alvg MBUlDTEd AenFss Couemigul alsHms SHIILIL (Beilen oGyl

860 611DHISB.
Write out the right-hand part of bar 82-83 in the given stave as you think it should be played.

@®® woBm eded eni® O» edews’ Judnd wisim.
Bhs BOmssh SHILSHGT Cumd Benel SHHSHLTS alleufldb@s.
Briefly explain the form of the piece.

2 918 o0 eng®OE 9t OB ¥ B8 eBc® ecsim.
ST BT &(HEHHS GBUIGHeNer QoHHTelwl CFTeOmeLULD DjouMnlaT QBB HHSHMBUID H(HS.
Give the Italian term and the English meaning of the following abbreviations.

(D) FZ oo

S
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2. 009 aedin “vlenmd v ewed Jistdenid ©d 2O 8 B8desiOda @16y BFo BedD Swzs @gHd

() Sewl exdens go®eRex0 Budns ne viEens emeag s ©eHs’ wosim.
LGN uGHulet oiseEmDLIERDEL . Benen sleieuTnl [BHiEeT afleufldaseomd AATUSHMDTF SHSHLOTES GBI,
Briefly state how you could describe the accompaniment of the Trin section.

(J) 2000 o Jowl el @dess O eEdsies o» B O »® s,
WemiGeut’, NG LGH®6T (igeuemL D, Gl eiierd & SydwieuBpie LI GSBULIGS.
Name the Cadence and the key that end the Minuett and the Trio sections.

(i) Minuett — Cadence ...........ccoveuioieninienanennns Key .oooviveinnii.
(ii) Trio — Cadence .........ocoouveieuinineananaeannnnn, Key ...,

Il @200 /uggd 11/ PART 1I
B® y&E» eCoDO B8EHT tesnnim.
slemeaCignid @reii@ eNenTEBEnHE alew_Welldb@s.
Answer any two questions.

8368 Becs ©1dn »F Busim.

B CHTGLmen “Breid CLIGL®GL” GeBHTHS IgraerdBuTed GFUI% LHW & HsGarFsemyl LTRSS
sufledl Goum LI @M@l GUTSSwTer &Gan LWELGSSE 61pSIs.

Transpose this passage up a Perfect 4. Prefix the new key signature and write for string quartet with
appropriate clefs.

| T I

;E" ‘flﬁg — F} _.,_,i_ ?Ii-—_E——U.L?'_ F‘_@T—f‘——;— —]
bi e =t S Be ===

P— I & I i {

J
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3. (@ a,b,c,d® ¢ ecs @enesgmd (a), sdewsstas’ (b), #388edass (¢), ®S8:S (d) »1 980 030 (€)
@ 800 dewided ey oI,
a0B8a&mflsd a,b,c,d,e ser ©BUTOIL Jeu (a), Fevbusiagear (b), erangdBueags (c), @dbdleon (d), urdmi
GCrm. (e) pFlu aveuIHIGmeNS GHNlhD.
Mark on the score as a, b, ¢, d and ¢ an appoggiatura (a), suspension (b), anticipation (c), auxiliary (d)
or passing note (e).
/ — L~ I .
_’}%“ __g._..!—i' WM ......... __II_‘I_.’; ’j = n .J'._:L-fmlr - » =
S F i r
|

1

|
"
i

(b)

(©

4. (a)

e N O R
—fu

2 g8 088 8CeriDdnsd amd cun .l defbed SO BDICE eCe edd) S A 8 ewigy OB
Busim.

SIUUL Beiten enid  AbGaFFnhapemiowt Lledieuhld Giosvigenul sOauImHIBemenF Fflumd OHTGH LTSS LTy
aflEemenl LWSILGSHS 5B 6I1pSHIP.

Rewrite this melody adding bar lines grouping the notes correctly according to the given time signature.

0®® AHMHOBI0L My L Gy GIdnd wdyulamewns’ Bosim.
Obs @Iaoa erodamen Qengds Gouewigul alHSHHe0 (LPUDEIOWITES 6T(LDSHISD.
Write out these ornaments in full as they should be played.

A
<Y
(3]

l!___

B
|
i
-

=

~I

) 1Nk

:
|

C o8} 6@ 0> e@iBus’ 0@ O 18 DB} WEE»OW @3¢ D O» w.dm DW= Crxsim.
8 B8des3Dds 9155 emDOBD. S ¢das GrBedslOE e@wagsIm.

C ®0@mpa ayia@d GLrfuisr Gum gewar’t UGBS dearflar. Sng 8
Oevly @eaflenar elpdIB. & HECFFy LWSLBSITHTHeN. SEUTmid CHemeuumer oHFEIL&I_60
LWSIUGSHSHIS.

Write an 8 bar melody for clarinet using the Dorian mode starting on C. Do not use the key signature
but write the necessary accidentals.

UMy &bemends  O\amTamTL_

i

J

(oS 889 acsd» / wmuesD uriss / Please turn over



AL/2019/56-STE-II(NEW)

=] -

-

(b) B 0®8b dedced @dcdd 0@ @8mds 8 8denldcn o8md aredfnes e adedfnes ¢zpSed
BeOOLOES Bumdm. g1Ged Becd ©8n 0 LY 08 eededds ey wTstm.

B Guggy evBmeder Gyevigell GoBevmgs emwoenny & HaCeiaenyds OQ@mewigna oGymasent, oieuGHTdHemr
weopuled &HGeueujmeiled 61(RHIB. SOBLT HBerell Gewedll LUIGTLUGSHSH 61060] Beit cpsod QEFLOGTT6sT

(©

GBEGS.

Write in quavers the ascending and descending forms of the relative melodic minor scale of B major

with the key signature.

0®® g0 e®CEHWO ey’ I LI gy eRE emw O DIID.
ObS L|eDOMHIGLD Cevgdh@E CUHST LGHMWF CFidhe.
Add a suitable bass part for the Bassoon to this melody for flute.

/-F-_-h“\ - ﬂ i I ,—.-‘—-h-.‘:'...... _ - w i
SEES=SStm e I SS==——CC
histismmsirstemmemrramre: —_— e ——— I

o) SIS .

A . —— | ——— I I

(o> e ey ——

(3] 4 S .

hgg
T

§©@w BEDBID.

iU’ Geien Lasjed Cued LWELIBHSH Obs SATB Benear LIewiILBSHSIS. ST L LI BeileNiened HalJ cJenediul

GamL_wisst g A5 S(HSIB.

Using the given figured bass complete this for SATB. Assume that the chords are g unless otherwise

shown.
Irglﬂ
'Y)
e =
T Lo ' ' |
6 g 6 6 6 6 r
4

Il @200¢3 /ugd I/ PART III
B3 ® yd» 6CODO BEmT Bowsim.
eTemeuBWisnID @TeRIB ellembaEnoHE oMl Wielobds.
Answer any two questions.

& a5 Bobd) ode »0m w823 SATB sew 0®n udyubier mostm. ¢addm c¢ $91 910 gorns emidasd

Fan
Lot

S
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6. (a) 2 B 9O we YRS Covlnm. 98 e@BgeCemnss »BL 0 eIRS B dewmz’ gdes’ wizim.
BO0DE0 wwEs DO B0 Bwo DI WE QB FIISEE BTDBI OIB.
SICILL_Beiten  QFTBHEHESTH OLoevly @eiTenB 61pHIH. Olomgu] Cevage @B LWRILIGHE Grmend
& uled Mewmey GQFUISH. evIMHIGEDHEGS BCp CEnhommens sfluns awd oyBoms Gou Couemngus
alpgmaud GBIIIGS.
Write a melody to the given words. Use one modulation and end in the tonic key. Write the words
correctly under the notes and add directions for performance. (Tempo, dynamics and phrasing).

The singing of woodwind, the sighing of strings,
The tension of brass that an orchestra brings,
Make the sound of a symphony stay in the mind,
And each time we hear it, more beauty we find.

(b) oo & g S01823 ecol BEACD ccrnden @3 emd ©8dHs’ Bwssm.
esieuheusteummieT gamaubuisnid Syewi® UBY o sSnenimisel Shal GBI eTIpSHIs.
Write short notes on two of the following with examples.

(i) Prelude (ii) Cantata (iii) Invention (iv) Symphony (v) Opera

(oS BYD dcsS» / wpussd unjds / Please turn over
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7. Ao B on em00d econst ydn ecm 823 ¢ C o083 g Somd ¢ BEnor wewsim.
A,B s8lu Qrewip uGFHsefedmbha Brewi® alamdssr aigupd C LGRS mHs (b elemTayb@d aflenL
2 _(1DBHKb.
Answer two questions each from section A and B and one from C.

(A) () anedns goed eeldd® @w.dn 0ernd gusl (8 e ©Bm miBors Sudnd wosim.
s &meudFed LCITAITD Bss CHTGHEGIWSTHE SHSILUGD Smsl LenL LIOILITetTens
ofleufla @ .
Describe a piece of music that is considered as programme music from the Baroque period.

(II) &8 w-Bved cdsen wensl mC 50 aus ceals’ 6cas »H® WoxSm.
e Gemgullel LewiLBmend GBI G, Selelensisailu Bb amaselar QLT GHINIGS.
State the characteristics of Jazz music and name two styles of it.

() 12 &8 Bged 10§ B0 98 egrdedes’ On BLncond Heddwm ¢30im.
12 ury emervEemen eflendd), oiHeT LGITESGagmar alugiores avGye e &ML [Bs.
Explain the 12 bar blues and illustrate the progression in a stave.

(IV) ‘Begitd end®’ cerndenos 88 Sudnd »ossm.
‘ero@rmils Gurd’ Sener o FHTTEIGHIL6ET eleldEs.
Explain Strophic form giving an example.

(e 89D dcs» / wmussd urjss / Please turn over
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B) () 8 8 »5O® B° OB 8 0 853 Vs BEICW 2DEHCHHOnD (SOTI>.
@eosimauiar HLAT (WmBHeT cpamiear Guul GIUICE, SeuBpeT gamid @Bl LB
oflen &G &.
Name three Sri Lankan dance forms and explain one in detail.

(ID) gecedBm w.dmed ©B5D D0 ydedd @o® ®® BB wredt) S wosi.
BesHyaiued Benguled LWLGTLURSHSUILIGD (WoHEI SaBIBmenud Qengd Shaldamenubd elaiflddd.
Describe the specific devices and instruments used in Electronic music.

(I 8 Erems wdns B ‘Bues’ scdmnn’ BBODmw 0 SLdnd mozim.
Bevminsuiar Gamaulsd ‘e Bend Semen aumyeleodbsamiliLBhd aleufldh@s.
Define and describe ‘Fusion music’ in the context of Sri Lankan music.

(IV) ‘&850 8 @§8m »m9Q® »® wd I emdews’ D&md wozss.
‘ol et SiglienL b amhidseler QUWIT GPIIILG Sieney @ebanalempud UBHEF sheSIOTH
ofleifle@)s.
Name the basic dances of a ‘suite’ and describe each briefly.

(o> 890 acs¥» / wpussw umjss / Please turn over
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(C) o> & 48 wBowus’ aneds’ 98 guned B8mwsomas, g0® denews’ Oy/ae By g Bss
ecod ¢ gdD enmdens’ Busiw.
Leireupld Beng HLEEGRTIHBEIH6T QBT aUTIDSMS UICONHBINMET GHMBHHH DT (IPHBUI ShSHHBIH6T
GrewienL. o 66N SHWSTEH S(hbHIOTS 6T(1DSHISB.
Write brief biographical details of one of the following composers including at least two of his/her important

works.
(a) Purcell (b) Telemann (c) Bizet (d) Mahler (e) Gershwin (f) Britten
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@ 8o»E 0 ocdg ¢ v & go.
Fmiwen, SO LGTGBeT HO SIULI_Bsitemsor.
Sinhala and Tamil terms are given below.

STt - 300TH D
Dewsito - @dedinen
@230 - 313%e]
@530DCE = SBDCIImSH
©0esd = BGH®e
300D = eeSHDE
&c® - 8¢®as

30 - Sy
et8ediss - 853 D
©0ds3 - ©®nben £8O0®
Sostedeested = ®cy 3B8@

61G\F 6iTgMmI
19 Q\F 6iTIQMHI
G

oz ABIEY
Omerbl”
BBl
Agid

Ui
AL E |
Gymedr
L_grestero@uimerd

6T S6mID
DTG i e i )
STUBNIFLD
BlemL_Gleuerh
Quie)

FUSBID

FlhoLD
DTSl
uTHHoigG el
W w&HE TN
LOMBIHE




